1. Which of the following should not be done when constructing a frequency distribution?

a. Select the number of classes desired

b. Find the range

c. Use classes that are unequal in width

d. Use classes that are mutually exclusive

2. What is the midpoint of the class 40 – 80?

a. 40

b. 60

c. 80

d. 45

3. What is the width of the class 20.7 – 28.3?

a. 7.7

b. 7.6

c. 28.35
d. 24.5

4. What are the boundaries of the class 2.15 – 3.65?

a. 2.1 – 3.7
b. 2.14 – 3.66

c. 2.149 – 3.659
d. 2.145 – 3.655
5. What are used to show how many values are accumulated up to and including a specific class?

a. Ungrouped frequencies
c. Cumulative frequencies
b. Raw data


d. Grouped frequencies

6. Using the data 5, 9, 2, 11, 7, 19, and 8, what is the range?

a. 4

b. 3

c. 14

d. 17
7. What would be the class boundaries for the class 3.52 – 3.58?

a. 3.515 – 3.585


c. 3.525 – 3.585

b. 3.500 – 3.600


d. 3.510 – 3.590

8. When constructing a frequency distribution, how many classes should there be?

a. Between 8 and 12

c. Between 5 and 20

b. Between 2 and 5

d. Between 15 and 20

9. What is the midpoint of the classes 13.2 – 16.4?

a. 13.2

b. 14.8

c. 16.4

d. 14.3

10. In the frequency distribution, two classes are 40 – 46 and 47 – 53. What is the class width?

a. 6

b. 8

c. 7

d. 5

11. In the class 20 – 28, what is the lower class limit?

a. 20

b. 19

c. 19.5

d. 20.5

12. Using the class 37 – 45, what is the upper class boundary?

a. 45

b. 45.5

c. 44.5

d. 46

13. Karla wants to construct a frequency distribution for the religious affiliation of the employees at Brown’s department Store. What type of distribution will be used?

a. Ungrouped


c. Categorical


b. Grouped


d. Cumulative

14. Using the class 17.25 – 18.10, what is the upper class limit?

a. 18.20

b. 18.10
c. 18.105
c. 18.11

15. What is another name for a cumulative frequency graph?

a. Bar graph


c. Frequency polygon

b. Pictograph


d. Ogive
16. The following frequency distribution was obtained.

Class boundaries
    
Frequencies

    

17.5 – 22.5


5

    
22.5 – 27.5


7

     

27.5 – 32.5


10

     

32.5 – 37.5


12

     

37.5 – 42.5


13


How many pieces of data were less than 37.5?


A. 12

B. 13

C. 22

D. 34
17. The meteorological records the temperature in Fairbanks, Alaska during each day. What type of graph would be used?

a. Time series graph

c. Pie graph

b. Pictograph


d. Ogive

18. Jimmy is constructing a pie graph to represent the number of g hours his classmates watch television each day. He found that 11/30 watched 2 hours a day. In his pie graph this would represent how many degrees?

a. 12

b. 132

c. 23

d. 150

19. In the pie chart, if pepperoni pizza was 15/60 of the distribution, how many degrees would be needed for pepperoni?

a.  900

b. 1200

c. 600

d. 1500
20. An automobile dealer wants to construct a pie graph to represent the different types of cars sold on October. He sold 90 cars, and 20 of the cars were convertibles. The convertibles will represent how many degrees in the circle?

a.  900

b. 1000

c. 600

d. 800
21. For the data 5, 9, 2, 11, 7, 19, and 8 what is the range?

a. 3

b. 17

c. 7

d. 19

22. Write a list of the data represented by the stem-and-leaf plot below.
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	a.
	50, 54, 59, 61, 66, 67, 71, 73, 76, 79, 83, 85, 88

	b.
	60, 64, 69, 71, 76, 77, 81, 83, 86, 89, 93, 95, 98

	c.
	70, 74, 79, 81, 86, 87, 91, 93, 96, 99, 103, 105, 108

	d.
	0, 4, 9, 1, 6, 7, 1, 3, 6, 9, 3, 5, 8


23. Ann records how many push-ups she and several of her friends can do in one minute. Draw a stem-and-leaf plot to represent the data she collected.

11, 11, 12, 13, 30, 15, 16, 16, 17

	a.
	Stem  Leaves
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	b.
	Stem  Leaves

     [image: image3.png]111235667
2
3lo





	c.
	Stem  Leaves
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	d.
	Stem  Leaves

     [image: image5.png]1
0

1235667






24. Find the range of the data in the stem-and-leaf plot.
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	a.
	46

	b.
	74

	c.
	75

	d.
	45


25. If you look at the coins in your pocket and state that you have more dimes than any other coin, what measure of central tendency are you using?

a. Mode

b. Mean
c. Midrange

d. Median

26. What is the midpoint of the data array called?

a. Mode

b. Median
c. Mean

d. Midrange

27. For the data 15, 21, 28, 17, 19, 29, and 25, what is the mean?

a. 21

b. 19

c. 20

d. 22
28. What is the median of the following data set?

120, 117, 191, 115, 130, 125, 140, 126

a. 125

b. 126

c. 125.5
d. 122.5

29. The following data set was collected: 32, 37, 38, 36, 37, 39, 37, 35, 41, and 31. What is the midrange?

a. 37

b. 36

c. 35

d. 38

30. The following data was reported on weekly salaries:

Salary

     Frequency

  300


4

  350


5

  400


8

  450


10

  500


9

  550


12


What is the mean of this distribution?

a. 453.2

b. 362.5
c. 425.0
d. 435.8

31. The following data was reported on weekly salaries:

Salary

     Frequency

  

  300


4

  

  350


5

  

  400


8

  

  450


10

  

  500


9

  

  550


12


What is the mode?

a. 12

b. 550

c. 450

d. 500

32. Which of the following percentiles does not corresponds to the median?

       a. P50

b. Q2

c. D5

d. Q3

33. An artist has two choices: acrylics and oil, and 5 choices of colors: red, yellow, green, blue, and black. If the artist selects a type of paint and then a color, how many possibilities would there be?
a. 10

B. 7

C. 5

D. 12
34. A die is rolled. If it is an odd number, the die is rolled again. If it is an even number, a coin is tossed. Using a tree diagram, how many outcomes are possible?
a. 12

b. 6

c. 8

d. 10

35. A box contains a $1 bill, a $5 bill, a $10 bill, and a $20 bill. A bill is drawn at random and not replaced. A second bill is then drawn. How many outcomes are possible?
a. 16

b. 8

c. 10

d. 12
36. A box contains a $1 bill, a $5 bill, a $10 bill, and a $20 bill. A bill is drawn at random and not replaced. A second bill is then drawn. How many possible outcomes result in both bills less than $10?

a. 2

b. 4

c. 6

d. 5

37. A box contains a $1 bill, a $5 bill, a $10 bill, and a $20 bill. A bill is drawn at random and not replaced. A second bill is then drawn. How many possible outcomes result in the second bill drawn being a $20?

a. 4

b. 3

c. 2

d. 1

38. A nurse has 6 patients to visit. How many different ways can she make her rounds if she visits each patient only once?

a. 360

b. 21

c. 720

d. 60

39. Which of the following cannot be considered a probability of an outcome?

a. 0

b. 23%

c. 115%
d. 1

40.  If a die is rolled one time, what is the probability of getting a number smaller than 5?

a. 1/6

b. 5/6

c. 1/2

d. 2/3
41. A box contains 9 red marbles, 8 green marbles, and 4 white marbles. If a marble is selected at random, what is the probability that it is not green?
a.  8/21

b. 13/21
c. 8/21

d. 0

42. A couple plans to have 3 children. What is the probability of getting at least one girl?
a. 7/8

b. 1/8

c. 1/2

d. ¾

43. What are the odds in favor of tossing three coins and getting one tail?

a. 3:5

b. 3:8

c. 5:8

d. 5:3

44. In a small sporting goods store there are 3 managers, 8 salesmen, and 5 cashiers. If a person is selected at random, what is the probability that the person is a cashier or a manager?
a. 5/16

b. 1/2

c. 11/16
d. 13/16

45. A single card is drawn from a deck. What is the probability of selecting a spade or a three?

a. 17/52

b. 1/4

c. 4/13

d. 1/2

46. In a calculus there are 11 freshmen and 15 sophomores; 5 of the sophomores are females, and 8 of the freshmen are males. If a student is selected at random, what is the probability of selecting a sophomore or a male?

a. 23/26

b. 3/26

c. 33/26
d. 5/13

47. In a calculus there are 11 freshmen and 15 sophomores; 5 of the sophomores are females, and 8 of the freshmen are males. If a student is selected at random, what is the probability of selecting a freshmen or a female?

a. 19/26

b. 3/26

c. 9/13

d. 8/13
48. A recent poll by the American Automobile Club found that 40% of those surveyed are worried about aggressive drivers on the road. If 4 people are selected at random, what is the probability that all 4 will be worried about aggressive drivers on the road?

a. 0.026

b. 0.16

c. 0.016
d. 0.4

49. In a box of thirty AAA batteries, there are three defective batteries. Two batteries are randomly selected and tested. What is the probability that both are defective, if the first one is not replaced after being tested?

a. 1/100

b. 1/145
c. 1/5

d. 49/290

50. Three cards are drawn from an ordinary deck and not replaced. What is the probability of getting three spades?

a. 1/64

b. 3/13

c. 11/850
d. 1099/1700

51. The probability that a person makes an A in College Algebra is 0.20. The probability that a person got an A in College Algebra given he or she had a 30 on the ACT test is 0.45. What is the probability of getting an A in College Algebra and getting a 30 on the ACT test?

a. 0.09

b. 0.90

c. 0.44

d. 0.25

52. A recent poll states that 35% of all American adults are overweight. If 4 adults are selected at random, what is the probability that at least one adult is overweight?

a. 0.015

b. 0.985
c. 0.821
d. 0.179

53. In a scientific study there are 9 mice, 4 of which are pregnant. If three mice are selected at random, without replacement, what is the probability that all are pregnant?

a. 1/42

b. 1/21

c. 64/729
d. 5/42

54. A box contains 5 blue marbles, 3 red marbles, and 6 white marbles. If three marbles are drawn, without replacement, what is the probability that all three are blue?

a. 1/364

b. 27/2744
c. 125/2744
d. 5/182
55. A box contains 5 blue marbles, 3 red marbles, and 6 white marbles. If three marbles are drawn, without replacement, what is the probability that all three are red?

a. 27/2744
b. 1/364
c. 9/14

d. 6/125

56. A small school bus contains 6 first-graders and 5 second-graders. If two children are ill, what is the probability that at least one is a second-grader?

a. 8/11

b. 9/11

c. 85/121
d. 96/121

57. In a class of 22 students, there are 15 males and 7 females. If a committee of three is randomly selected, what is the probability that all three are females?

a. 1/44

b. 343/10648
c. 1/11

d. 251/1088

58. In a class of 22 students, there are 15 males and 7 females. If a committee of three is randomly selected, what is the probability that two are males and 1 is a female?

a. 3/44

b. 4/55

c. 21/44
d. 7/44

59. Frances gets 18 tails out of 32 tosses of a coin. This would be an example of what type of probability?

a. Classical
b. Empirical
c. Subjective
d. Uniform

60. A family has four children. How many possible outcomes will be in the sample space?

a. 4

b. 8

c. 16

d. 32

61. In a recent survey 8 people watched ABC, 7 people watched NBC, and 12 people watched CBS. If a person is picked at random, what is the probability that the person watched NBC or CBS?

a. 19/27

b. 20/27
c. 5/9

d. 7/27

62. If a die is rolled one time, what is the probability of getting a number less than 5 or an even number?

a. 7/6

b. 5/6

c. 2/3

d. 1

63. Two dice are rolled. What is the probability of getting a 4 or a 10?

a. 11/36

b. 1/18

c. 1/3

d. 1/6
64. A card is drawn from an ordinary deck. What is the probability of getting a black jack?

a. 1/26

b. 1/52

c. 1/13

d. 3/52

65. A single card is drawn from a deck. What is the probability of selecting a queen or a heart?

a. 17/52

b. 4/13

c. 15/52
d. 9/26

